

$$3\frac{2}{6} \times 3\frac{2}{3} =$$

$$1\frac{1}{3} \times 1\frac{3}{6} =$$

$$3\frac{2}{4} \times 3\frac{3}{5} =$$

$$3\frac{1}{5} \times 3\frac{2}{3} =$$

$$2\frac{4}{6} \times 3\frac{3}{5} =$$

$$1\frac{4}{5} \times 2\frac{1}{4} =$$



$$3\frac{2}{6} \times 3\frac{2}{3} = \frac{20}{\cancel{6}^3} \times \frac{11}{3} = \frac{110}{9} = 12\frac{2}{9}$$

$$1\frac{1}{3} \times 1\frac{3}{6} = \frac{\cancel{4}^2}{\cancel{3}^2} \times \frac{\cancel{9}^3}{\cancel{6}^2} = \frac{2}{1} = 2$$

$$3\frac{2}{4} \times 3\frac{3}{5} = \frac{\cancel{14}^7}{\cancel{4}^2} \times \frac{\cancel{18}^9}{5} = \frac{63}{5} = 12\frac{3}{5}$$

$$3\frac{1}{5} \times 3\frac{2}{3} = \frac{16}{5} \times \frac{11}{3} = \frac{176}{15} = 11\frac{11}{15}$$

$$2\frac{4}{6} \times 3\frac{3}{5} = \frac{16}{\cancel{6}^3} \times \frac{\cancel{18}^3}{5} = \frac{48}{5} = 9\frac{3}{5}$$

$$1\frac{4}{5} \times 2\frac{1}{4} = \frac{9}{5} \times \frac{9}{4} = \frac{81}{20} = 4\frac{1}{20}$$

